@ 0.014+7

@ 14+7

O 14=+7

3 140 =7

@ 014 =7



UeAle U7t ool

2] 227k A A

o it

@ 48.08 =8 @ 285+3

@ 1.62=6 B 7288

® 728+ 14



3. the WRAlY B2 Uroi®old wpskx Fakeld 02 2 Wolt
Whe Hof sher] Pk,

46 - 16

rE

S ER
=



B3 4.385 @ 4.381 ® 4.352

@ 4.3

@D 4.28



A

=4

&

=

i

wreRste] 44 3 A7) et

= gntelx] FotAL.

A2t verd 5] 7



(5] (6] [7]. [8] [9]

6.

EREN

o
(F= &t

L) dd



17+ 3 & Uhro] Dol A4 gt o] A4bE 44 S4) Ahalo] A
Uiro] "ol 2|7 sl ®l, Lol 4eof lnte Hefof sl 7

e 55 A2

Yt
=%



8. UxAlY] &g whEHste] &4 A A 7HA] YAl
25+13 = 1.9230 -

ge
»



o7} 38 m<l =2 o] FEof 28719 S ASHH 744 HE2>

Z4
4AoR oo gt 2T 2T Aolo] A2l o H m o
of Sh) uhste] 44 A AHel7kx] AL, (ol 0666 -
oF 0.67)

a ek oF m



FA7F 62.13kgel AU o] 7

]E ey =A 7 2371 kgo] R
]Z] o]—/x]

kg

fujr

-



